50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

0 2 3 4
A=2 3 8 4

48 13 1007
P

b. Test for conslsteggéyand solve the system :”...

x+y+ z=6
X— y+§;'m5 A
3x+¥d3ﬁ z=8. -

&

C.
-2 2 -3
A= 2 1 -6|.
-1 -2 0],
“g@%t“ iy R

2 a. Reduce the m@tri‘f( A to the echelon@ﬁq;m where

1 -3
3
1
1

x+2y+3z= 1@&*
X+ 2y++ Az =
may have

i) unique solution
ii) infinite solution
iii) no solution. , ¢

c. Solve: 4
2x+ y+4z=12
4x + lly—— z=33

‘elimination method.
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(06 Marks)

(07 Marks)

(07 Marks)

(06 Marks)

(07 Marks)

(07 Marks)
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Module-2 m‘% »”
The area of a circle (A) corresponding to dlameter?@) is given in the followmg table :

D| 80 95 1100 |
A | 5026 56?74[6362 7088 | 7854 |

Find the area when D = 105 using, amappropnate interpolation &ﬁm@ula (06 Marks)
Find the real root of the equatlcg% cms x = 3x — 1 correct*to~three decimal places using

Regula — Falsi method. (07 Marks)
! -
Evaluate J‘ X dX2 using Weddle’s rule. Take seven ordinates. (07 Marks)

§1+x

Find ugs from thqdata u = 225, u; = 23‘ 35U = 320, uz = 340 by using an appropriate
interpolation formula. w5 (06 Marks)
Use Newton Raphson method to ﬁnd a real root of the equation x> + 5x — 11 = 0 correct to

the threé dec1mal places. (07 Marks)

“*\b
'e&smw d \{'}»’);‘@w 1
Using Simpson’s 1/3™ rule, evalilate I

1+x?

parts. Hence deduce the value.of log,”. ¢ 3 (07 Marks)
Mod}trl:g-iif
Solve (D’ — 6D* +11D - 6) y = 0. S ) (06 Marks)
Solve (D* - 4)y}:i;pos h (2x—1)+ 3% ) A (07 Marks)
Solve ii4—-2-%-3 dy +2y= 4costx ... bty 7 (07 Marks)
X v sy
(06 Marks)
ﬂ?ﬁj%%lﬂfﬂ*
@m (07 Marks)
(07 Marks)
Module-4
Form a part1a1 d1fferé”nt1al equation by eliminating the arbitrary constants in
ax* + by’ + 2% =1.. (06 Marks)
Form the pamal dtfferentlal equatlon by eliminating the arbitrary function from
Ix+my+nz= (l)(}»z2 +y*+ 20, (07 Marks)
2 & .
Solve 2—3(22: a’z, given that when x =0,z =0 and -ZZ—X =asiny. (07 Marks)

Y

o) 2 0f3

&
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- OR %
Form a partial differential equation by eliminating the arbitrary constructs from :

z=xy+yVx*—a’ +b. (06 Marks)
Sol 9’z B by di . o
olve &7 =X+Yy by direct mtegra:iqr;. s (07 Marks)
St 2 <, pven Bt e st s v =0
olve gy—i—-z,glven a z—s@e N sin X, wheny= (07 Marks)
Module-5 ;a%
Define : %
i) Sample spacg% AL
ii) Mutually exclugive events v
ii1) Mutuallymdependent events. (06 Marks)

A box conﬂt%ﬁ@sm black, 5 white and 6 red balls If 2 balls are drown at random, what is the
probabﬂf%%bat

i) bethare red

ii) one black and one white.
State and prove Baye’s theorem¢

(07 Marks)
(07 Marks)

Find : P
i) P(A) A

i) PB) .,
ii1) P(A(\B)
iy
A pr;p Jl,gm is given to

A, / 71 / , / respective

07 Marks)

* %k %k k %

30f3




